/—\ *L Pt ﬁ"ﬁ %
1. ITE4 BTRERESAHETKE FKEEEHZIE
2. TE5Fr HETEHETEH H#HA
3. B4 FEHFEKEE WBETN2—4 5
4 DTELE HIBR A — A% AR F A FL
5. A %, B SF3E6H178 10:00 ~
6. AfLEEER K
] A #H £ 2
H A X & 4B F1EES5E (M) Fom B 4% (M)
et NEE 55,100,000
SAREE HXo 56,310,000
Hstent SsAM 56,400,000
BERS BEM 55,440,000
LaEH% Htent 55,150,000
M (EELE 55,650,000
LS HRSH 55,460,000
Hter EHER 55,500,000
BERL FEEM 55,550,000

=R A
F 5 fiih (Bidk)
Rt & &
i S
& F H
BUFEFAE

B =

#R 24 NEM
58,060,000 M
60,610,000 F

TH3F6A22R
TH3IF6H22R
TH4E2R7H

R o — AR5 F A #L

1073



A B E 2

1. ITE 4 NETKE FKEERITE

2. TE5Fr HETEEHHHETEE #hA

3. B4 HEEKEE @WBZD3—1 4

4 ZHIDIELE FIPR T — AR RS A AL

5. A % B SF3E6H178 10:10 ~

6. AfLEEER K
_ A #l il ]
wH A X A& 4 F1EBEL%E (M) FoE B 2% (M)

et NEME 54,000,000

SREE Htet 52,700,000

Htet EZR4E 53,500,000

HREH HEME 53,300,000

Zar®m Hta 53,600,000

Htet ERnLE 52,750,000

B2 ARt 53,100,000

e BHER 52,800,000

HESH HEME 53,250,000

=R A
F 5 fiih (Bidk)
Rt & &
i S
& F H
BUFEFAE

B =

BAER B
55,620,000 M
57,970,000 M

SH3E6H 228
SF3E6H22H
F4E2H9H

R o — AR5 F A #L

1074



/—\ *L Pt ﬁ"ﬁ %
1. ITE4 BTRERESAHETKE FKEEEHZIE
2. TE5Fr HETEHETEH H#HA
3. B&AT)I4& FEHEKEE WPZTD2—2 5
4 DTELE HIBR A — A% AR F A FL
5. A %, B SF3E6H178 10:20 ~
6. AfLEEER K
] A L 2 #B
A XA A E1EELE M) FEoEE S5 (M)
Mstert NEM 47,300,000
SARS Hte 48,370,000
Htan EEAM 48,000,000
ARS BEM 47,770,000
LaEE Htan 47,350,000
et feeLE 47,770,000
L HRei 47,760,000
HXait BHER 47,700,000
AR HEM 47,600,000

=R A
F 5 fiih (Bidk)
Rt & &
i S
& F H
BUFEFAE

B =

#R 24 NEM
49,860,000
52,030,000 HM

TH3F6A22R
TH3IF6H22R
TH4E2R7H

R o — AR5 F A #L

1064



A B E 2

1. ITE 4 NETKE FKEERITE
2. THIFH FERMLHEAT TR R 4
3. BRAI4 HERE /KIS FHEIFD55—11 44
4 ZHIDIELE FIPR T — AR RS A AL
5. A % B SF3E6H178 10:30 ~
6. AfLEEER K
A #l il ]
R - F1EBEL%E (M) FoE B 2% (M)
et NEME 41,000,000
SREE Htet 41,230,000
Htet EZR4E 40,200,000
HREH HEME 40,300,000
Zar®m Hta 41,000,000
Htet ERnLE 40,800,000
B2 ARt 40,850,000
e BHER 41,000,000
HESH HEME 40,250,000

=R A
F 5 fiih (Bidk)
Rt & &
i S
& F H
BUFEFAE

B =

HAe SBAM
42,500,000
44220000

SH3E6H 228
SF3E6H22H
F4E2H9H

R o — AR5 F A #L

1061



A B E 2

1. ITE 4 NETKE FKEERITE
2. TEI5 HEHMEIFREIEAR #HA
3. B4 BUTEEKE R #BZEDN11—7 4t
4 BBHIDIELE HIFR T — A% A 4L
5. A % B SF3E6H178 10:40 ~
6. AfLEEER K
A #l il ]
R - F1EBEL%E (M) FoE B 2% (M)
et NEE 40,000,000
BERED Hxeut 40,480,000
et E2AM 39,450,000
RS EEE 39,350,000
ZoEE Htan 40,500,000
Htet ERnLE 39,600,000
BlLEsR BBt 39,780,000
2EEE Mot 39,900,000
Her HHED 39,900,000
HESi BEME 39,550,000

=R A
F 5 {4 (Bidk)
R &
2 ¥ H
B F B
BUHPEEAR

B =

AR BEEM
41,730,000
43,285,000 M
TH3F6A22R
TH3F6A22R
TH4F2A7H

HIR AT — AR5 F A4

1075



/—\ *L Pt ﬁ"ﬁ %
1. ITE4 BTRERESAHETKE FKEEEHZIE
2. TE5Fr HETEHETEH H#HA
3. B&AT)I4& FEHEKEE WBZTD2—3 5
4 DTELE HIBR A — A% AR F A FL
5. A %, B SF3E6H178 10:50 ~
6. AfLEEER K

A L 2 #B
BB X EH A E1EELE M) FEoEE S5 (M)

Mstert NEM 37,300,000
SARS Hte 38,280,000
Htan EEAM 38,000,000
ARS BEM 37,580,000
LaEE Htan 37,310,000
et feeLE 37,670,000
L HRei 37,550,000
HXait BHER 37,630,000
AR HEM 37,650,000

=R A
F 5 fiih (Bidk)
Rt & &
i S
& F H
BUFEFAE

B =

#R 24 NEM
39,280,000 M
41,030,000 H

TH3F6A22R
TH3IF6H22R
TH4E2R7H

R o — AR5 F A #L

1076



A B E 2

1. ITE 4 NETKE FKEERITE
2. TE5Fr HETEEHHHETEE #hA
3. B4 HEEKEE @WBZD3—2 5
4 ZHIDIELE FIPR T — AR RS A AL
5. A % B SF3E6H178 11:00 ~
6. AfLEEER K
A #l il ]
R - F1EBEL%E (M) FoE B 2% (M)
et NEME 26,500,000
SREE Htet 25,650,000
Htet EZR4E 26,500,000
HREH HEME 26,260,000
Zar®m Hta 26,700,000
RSt TxREE 25,790,000
et ERLE 25,600,000
BlLE®% ARt 26,250,000
e BHES 25,700,000
RS ®EME 26,250,000

=R A
F 5 {4 (Bidk)
R &
2 ¥ H
B F B
BUHPEEAR

B =

BRARA EREHILE
27,380,000 M
28,160,000 M
TH3F6A22R
TH3F6A22R
TH4F1ANRE

HIR AT — AR5 F A4

1077



A B E 2

1. ITE 4 NETKE FKEERITE
2. TEI5 HEHMEIRETFE #HhA
3. B4 FTREKE R #BZFD37—4 4t
4 BBHIDIELE il PR A — AR F = A L
5. A % B SF3E6H178 11:10 ~
6. AfLEEER K
A #l il ]
R - F1EBEL%E (M) FoE B 2% (M)
Hte NEM 24,000,000
BERED Hxeut 24,500,000
et E2AM 24,000,000
RS EEE 24,220,000
ZoEE Htan 24,400,000
HBRSit xEE 23,870,000
et EERLE 24,230,000
BlLEsR BREtt 23,840,000
Her HHED 24,500,000
HESi BEME 24,150,000

=R A
F 5 {4 (Bidk)
R &
2 ¥ H
B F B
BUHPEEAR

B =

Figs ARstt
25,260,000 M
26,224,000 HM

TH3F6A22R
TH3F6A22R
TH4F1ANRE

HIR AT — AR5 F A4

1055



A B & £
1.I%5% K2 Frhes i A A RIS S T (ke

2. TEIBFH FETAZTFE K
3. B )II% HEMIRZ Fhei

4. RHIDIERE PR i — iR F A #L

5. A % B SH3E6A17H 11:20 ~
6. AfLECERE
A W & #
Ba X F A Z1EE£%E (M) ZoE B £% (M)

et NEE 124,000,000

BARERE HXat 123,350,000

Hten E2AM 120,500,000

SAaxh—LY—ER Rttt ' 120,800,000

AR Htait 123,000,000

HARH HEIHE ' 125,000,000

F AR A K=t ELKHE

P 5 i (BidR) 127,170,000 M
2 S 132,550,000 M
R # H AF134E6 A 220
® F H HH3E6A22R
BIFEEAR H4E2H3H

& #: R o — A& 5 F A #L

1068



A B B E
1. IE 4 BIR/NERNMUBIELS
2. THIFFH FEMETRAT
3. BRAI4 FHEMHIFEIR/NER
4 BBHIDIELE HIFR T — A% A 4L
5. A % B SF3E6H178 11:30 ~
6. AfLEEER K
_ A #l il )
A XA B F1EES%E (M) FoEE 2% (M)
et NEE 35,000,000
BAREE HRet 35,450,000
et E2AM 34,500,000
et AATHKE 36,020,000
et hE 35,400,000
SAFR—LY—ER #HEeH ' 34,700,000
hiEE et 35,200,000
ZEEH Bt 35,100,000
e HEIXE 35,700,000

=R A
F 5 fiih (Bidk)
Rt & &
i S
& F H
BUFEFAE

B =

ks TEAME
36,550,000 M
37,950,000 FM
TH3F6A22R

SH3FE6H22H
4F34E11H15H

R o — AR5 F A #L

1069



A F BB E
1. 15 4 EHINERNMLBETIS
2. TE5Fr HETEHETEH H#HA
3. BSANI4 FET IS H /B
4 BHIDIELE FIPR A — AR RS A KL
5. A % B SF3E6H178 11:40 ~
6. AfLEEER K
g A L & %
A XA A E1EELE M) FoE B 2% (M)
HXL @M 33,100,000
BRED e 33,880,000
e EzAME 34,300,000
e R 33,150,000
AxXR—LY—ER B¥KEHt 33,180,000
hFEE Kt ' 33,500,000
ZEEE Kte 33,150,000
e FEIEE 33,300,000

=R A
F 5 i (Bidk)
Rt & &
i S
& F H
BUFEEAE

B =

#A At DB
34,940,000
36,410,000 M
TH3EF6RA228

SH3FE6H22H
4F34E11H15H

R o — AR5 F A #L

1070



A B B E
1.TE 4 B EINERMMLUBEIE
2. TEIBAT HETHE LA A
3. B4 FETILEF ENERR
42 DIELE FIPR T — AR RS A AL
5. A % B SF3E6H178 11:50 ~
6. AfLEEER K

A W & £
BB X EH A E1EELE M) FoE B 2% (M)

et NEME 12,200,000
SREE Htet 12,280,000
He BZRME 12,580,000
HXe BATEE 12,010,000
e s 11,980,000
SRXR—LY—ER B ' 12,020,000
RS Kteit 12,200,000
X284 ARaH 12,300,000
e FEIEE 12,300,000

=R A
F 5 fiih (Bidk)
Rt & &
i S
& F H
BUFEFAE

B =

KRR tRiE
12,660,000 M
13,178,000 M

TH3F6A22R

SH3FE6H22H
4F34E11H15H

R o — AR5 F A #L

1071



